AGENTS IN COLLISION
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AGENT GEOMETRY+
ALGORITHM DIAGRAM
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| Line Agent 50% chance of forming a surface 50% chance that lineagent starting at pt5 will be scaled between 1-5, An agent checks alll other existing agents and if it finds |
| 50% chance that lineagent starting at pt,3,4,6 will be scaled down by 0.99 any pt2 of exisiting agents within clearance distance it |
| deletes itself |
! )
import processing.opengl.*; LineAgent(IVec pt, IVec dir){ void update(){ //ISurface surfacel = new ISurface(cpts, 1, 1, false, true)
import igeo.*; ptl = pt ’ super.update(); I/ surfacel.scale(new IVec(ctr.dup()),0.8);
ot2 = pt,dup() add(din): int r = clr().getRed() + IRandom.getint(-30, 30);
' ' ' - : if(i idi int g = clr().getG + IRandom.getInt(-30, 30);
"o S?ﬁé’ %{oo IG.GL); /| P13 = pLup) acdlcircupO.Toais 7. aup( , IS Ifgsfqmdlng){ :Et g = ;;8 ggtslrjg(r)](i IRar?dnor(;m e?tlentr(]-i(%o 30).)
ISF'{ZE( oY ) llpt4 = pt.dup().add(dirdup().rot(axis2.dup() , P1/3)): el(); =clr).g g » 30);
IG?jnurgtTc;:]Tl(S))" /I'pt5 = pt.dup().add(dir.dup().rot(axis3.dup() , PI/3)); }else f(time == 0){ /if not colliding Vec dir = pt2.diff(ptl):
S ety by, MewICuneGUpIISCH) (R a0
new L?neAgent(new IVec(30,-30,30), new IVec(5,-5,5)).clr(0.5,0.5); pt4 = pt.dup().add(dirdup().flip().rot(axis2.dup() PI/3)); new ICurve(ptl,pt3).c|r(th?s.c|r()); ISurfa_ce surfgcel = new ISurface(cpts, 1, 1, false,
new L!neAgent(new IVec(0,0,0), new IVec(5,5,-5)).cIr(1.0,0,0.5); pt5 = pt.dup().add(dirdup().flip().rot(axis3.dup() , P1/3)): new ICurve(ptl,pt4).c|r(th!s.c|r()); true).clr(this.clr());
new LineAgent(new IVec(-30,-30,0), new IVec(0,5,-5)).clr(1.0,1.0,0.5); pt6 = pt.dup().add(dirdup().flip().rot(axis4.dup() , P1/3)): new ICurve(ptl,pt5).clr(this.clr()); }
} } new ICurve(ptl,pt6).clr(this.clr()); if(IRandom.percent(50)){ //bend
static class LineAgent extends IAgent{ IVec[][] cpts = new IVec[2][4]; new LineAgent(pt5, dirdup().len(IRandom.get(1, 5))).clr(r,

: void interact(ArrayList < IDynamics > agents){
//static double length = 10; /lcpts[0][0] = pt2; g, b);

//static double clearance = 9.99; //less than length Superinteract(agents): /lcpts[0][1] = pt2; /Inew LineAgent(pt3, dirdup().mul(0.99));
stat?c IVec ax!sl = new IVec(10, 10, 10); if(time == 0){ //only ,in the first time /lcpts[0][2] = pt2; }
static IVec axis2 = new I\Vec(10, -10, 10); for(int i=0; i < agents.size() && lisColliding; i++){ /lcpts[0][3] = pt2; .
static IVec axis3 = new IVec(-10, -10, 10); if(agents.get(i) instanceof LineAgent){ cpts[0][0] = pt1; if(IRandom.percent(50)){ //bend
static IVec axis4 = new IVec(-10, 10, 10); LineAgent lineAgent = cpts[0][1] = pt1; new LineAgent(pt6, dirdup().mul(0.99)).clr(r, g, b);
static I\Vec ctr= new IVec(0, 0, 10); (LineAgent)agents.get(i); cpts[0][2] = pt1; }
if(lineAgent = this){ //agents include "this" cpts[O][3] = ptl; |
IVec ptl, pt2; I/l checking clearance of end point cpts[1][0] = pt3; f(IRandom.percent(S0)){ //bend
boolean isColliding=false; if(lineAgent.pt2.dist(pt2) < ptl.dist(pt2)*0.5){ cpts[1][1] = pt4; new LineAgent(pt4, dirdup().mul(0.99)).clr(r, g, b);
isColliding=true; cpts[1][2] = pt5; }
IVec pt3; } cpts[1][3] = pt6; }
IVec pt4; } }
IVec pt5; }
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